Agenda Item #: 3T- (

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS

AGENDA ITEM SUMMARY

Meeting Date: September 9, 2025	[X] Consent [] Ordinance	-
Department		
Submitted By: <u>Health Department</u>		
Submitted For: Environmental Public	<u>Health</u>	
I. EXEC	 UTIVE BRIEF	
Motion and Title: staff recommends motion Commissioners of Palm Beach County, Florida, a Control Program.	on to adopt: Resoluted adopting the FY 2025/2	tion of the Board of County 026 Budget for the Air Pollution
Summary: This Resolution is required by the Health Palm Beach County (DOHPBC) to esta deposited into the Air Pollution Control Trust Furlicense registration fees. The proposed FY Program from this funding source is \$ \$1,300, costs and salary increase to the government emprevenues and a surplus in the Air Pollution Control.	ablish the annual budg ad. This Program is sol 2025/2026 Budget for 068. This increase is pa ployees. This Budget ca	et for the expenditure of fees lely supported by motor vehicle or the Air Pollution Control artially due to the rise of indirect an be accommodated by future
Background and Justification: In 1983, the Statutes, which provided for an additional fifty control of air pollution in the State. If this fee is oprograms, such as the existing Health Deparestablished by the County. This Statute also recontrol purposes. Therefore, the County entered Health Department Air Pollution Control Prograestablish an Air Pollution Control Trust Fund to 1196, was adopted on August 21, 1984 (Attachmesolution R2020-1385 (Attachment 5).	ent (50¢) motor vehicle collected in counties wit tment. Program, then equires that these fundal into an agreement with am to act on behalf or support such a program.	license registration fee for the happroved air pollution control it is returned to a trust fund s be used only for air pollution hathe DOHPBC authorizing the f Palm Beach County, and to am. The Resolution, No. R84-
The 1990 State Legislature amended Section 32 fee to One Dollar (\$1.00) for support of air polluti	20.03(6), Florida Statut ion control activities. (0	es, to increase the registration Continued on page 3)
Attachments: 1. TAG Budget 2025-26 2. TAG Resolution 2025-26 3. Comparison of TAG Fee Budgets FY 2 4. PB County APCTF Agreement 1984 5. Resolution R-2020-1385	2025 & FY 2026	
Recommended By: Department D	with Director	07 20 2025 Date
Approved By:	Lu (8(57/52
ASSISTANT COL	unty Administrator	Date

II. FISCAL IMPACT ANALYSIS

Α.	Five Year Summar	y of Fiscal	Impact:				
Capit Oper Oper Exter Prog In-Kir Healt	al Years tal Expenditures tal Expenditures tating Costs tating Revenues trnal Revenues tram Income (County th Department (see b		2026	2027	2028	2029	
	DDITIONAL FTE SITIONS (Cumulativ	e) <u> </u>			***************************************		
ls Ite	m Included in Propo	sed Budg	et? Ye	sX_ No	*************************************		
Does	this item include th	e use of F	ederal Fund	s? Yes	No _X		
Budç	get Account No.:	Fund	Dept	Unit	Object		
В.	Recommended So	urces of F	unds/Summ	ary of Fiscal	Impact:		
regis	re is no direct fiscal in tration fees is accour r a separate item.	npact asso nted for in	ciated with th the Health D	iis item. The r Department bu	evenue and e udget which i	expenditure budg s submitted for a	et of the approval
C.	Departmental Fisc	al Review	•			_	
A.	III. REVIEW COMM		et Dev. and C	control Comm	nents:		
	Low Mut	SDA8/1	(38 <u> </u>	MM/ Contract I	Dev. and Con	M/ 8/12/2 trol 268.12) 95 2 =
B.	Legal Sufficiency						
	Assistant C	ff (8/14/25 orney	-			
C.	Other Department	Review:					
	Department	Director					

THIS SUMMARY IS NOT TO BE USED AS A BASIS

Background And Justification (Continued):

Background And Justification: Section 320.03(6), Florida Statutes, was further amended to provide that an approved local air pollution control program is eligible to receive an additional twenty-five cents (25ϕ) from the fee for a total of seventy-five cents (75ϕ) , provided the local air pollution control trust fund has an unencumbered balance not exceeding 50% of the previous year's revenue allocation. It is estimated that the unencumbered balance at the end of the current fiscal year will be less than 50% of the annual revenue thus making the County eligible to receiving funding at the 75¢ level. It is also estimated that annual tag fee revenues collected during FFY 2025/2026 will provide sufficient funds for this budget.

Attachment 1

BUDGET SUPPORT INFORMATION - FISCAL YEAR 2025-2026

FUND AIR POLLUTION CONTROL TRUST FUND	FI	<u>DIVISION</u> ENVIRONMENTAL PUBLIC HEALTI			
POSITION NO.	SALARIES RATE		ACCOUNT TITLE	BUDGET REQUEST	
00429	\$50,891.00	0.50	Engineering Specialist III	\$25,445.50	
27861	\$50,001.12	0.50	Environmental Specialist III	\$25,000.56	
28835	\$126,444.24	0.25	Environmental Administrator	\$31,611.06	
28932	\$41,043.34	0.40	Operations Consultant	\$16,417.34	
29023	\$105,963.52	0.45	Environmental Administrator	\$47,683.58	
29024	\$39,385.84	0.30	Staff Assistant	\$11,815.75	
30896	\$52,538.72	0.60	Accountant III	\$31,523,23	
31287	\$51,193.00	0.40	Environmental Specialist III	\$20,477.20	
45575	\$71,801.34	0.35	Environmental Manager	\$25,130.47	
45576	\$68,732.82	0.48	Environmental Manager	\$32,991.75	
45810	\$48,573.98	0.20	Biological Specialist III	\$9,714.80	
49846	\$54,172.00	0.50	Engineering Specialist III	\$27,086,00	
49849	\$47,667.88	0.30	Health Education Program Consultant	\$14,300.36	
58573	\$61,088.56	0,40	Eng. Specialist Supervisor III	\$24,435.42	
64961	\$47,667.88	0.40	Environmental Specialist III	\$19,067.15	
65377.	\$51,619.88	0.50	Engineering Specialist III	\$25,809.94	
68935	\$56,386.72	0.50	Environmental Specialist III	\$28,193.36	
	\$41,561,52	0.50	Environmental Specialist III	\$20,780.76	
84874	\$57,478.20	0.30	Biological Specialist IV	\$17,243.46	
82738	\$55,129.88	0.55	Environmental Specialist III	\$30,321.43	
82421	\$49,188.88	0.40	Environmental Specialist III	\$19,675.55	
29768	\$67,468.44	_ 0.15	Environmental Consultant	\$10,120.27	
		SUB-TOTAL		\$514,844.95	

Attachment 1
BUDGET SUPPORT INFORMATION - FISCAL YEAR 2025-2026

FUND AIR POLLUTION CONTROL TRUST FUND		<u>DIVISION</u> ENVIRONMENTAL PUBLIC HEALTH		
POSITION NO.	FRINGE	RATE	ENT OF HEALTH PALM BEACH COUNTY ACCOUNT TITLE	BUDGET REQUEST
00429	\$50,891.00	0.50	Engineering Specialist III	\$14,912.50
27861	\$50,001.12	0.50	Environmental Specialist III	\$10,324.00
28835	\$126,444.24	0.25	Environmental Administrator	\$12,596.00
28932	\$41,043.34	0.40	Operations Consultant	\$12,260.80
29023	\$105,963.52	0.45	Environmental Administrator	\$20,739.15
29024	\$39,385.84	0.30	Staff Assistant	\$6,311.40
30896	\$52,538.72	0.60	Accountant III	\$19,836.60
31287	\$51,193.00	0.40	Environmental Specialist III	\$8,259.20
45575	\$71,801.34	0.35	Environmental Manager	\$15,327.20
45576	\$68,732.82	0.48	Environmental Manager	\$18,704.64
45810	\$48,573.98	0.20	Biological Specialist III	\$4,068.80
49846	\$54,172.00	0.50	Engineering Specialist III	\$10,635.00
49849	\$47,667.88	0.30	Health Education Program Consultant	\$6,044.70
58573	\$61,088.56	0.40	Eng. Specialist Supervisor III	\$9,199.60
64961	\$47,667.88	0.40	Environmental Specialist III	\$12,809.20
. 65377	\$51,619.88	0.50	Engineering Specialist III	\$10,896.00
68935	\$56,386.72	0.50	Environmental Specialist III	\$10,995.00
69370	\$41,561.52	0.50	Environmental Specialist III	\$9,529.50
84874	\$57,478.20	0.30	Biological Specialist IV	\$6,665.70
82738	\$55,129.88	0.55	Environmental Specialist III	\$18,479.45
82421	\$49,188.88	0.40	Environmental Specialist III	\$4,055.20
29768	\$67,468.44	0.15	Environmental Consultant	\$5,427.45
		SUB-TOTAL	SUB-TOTAL Note: FRINGE BASED ON ACTUAL AMOUNTS	\$248,077.09

Attachment 1

BUDGET SUPPORT INFORMATION - FISCAL YEAR 2025-2026

FUND AIR POLLUTION CONTROL TRUST FUND ACCOUNT TITLE	DEPARTMENT FLORIDA DEPARTMENT OF HEALTH PALM BEACH COUNTY EXPLANATION	DIVISION ENVIRONMENTAL PUBLIC HEALTH BUDGET REQUEST
Travel & Training	Travel costs to attend meetings, conferences, and training courses. Employee development (Registration Fees).	\$1,000
Communications	Telephone, cellular phones, & pagers.	\$8,000
Utilities & Building Maintenance	Electric, water and waste disposal costs and building maintenance & security.	\$8,000
Office Supplies, Equip. Maintenance &	Costs related to office supplies, subscriptions, equipment maintenance, and service contracts for air monitoring trailers.	\$17,000
Motor Pool	Costs related to repairs, maintenance of vehicles.	\$15,000
Capital (OCO)	Two air conditions for the air monitoring shelters	\$10,000
105 Match	Matching money required to receive Federal air program funding for FFY 2024-25 from the U.S. Environmental Protection	\$185,000
,	BUDGET TOTAL	\$304,455

· /	RESOL	.UTION NO.	
-----	--------------	------------	--

RESOLUTION OF THE BOARD OF COUNTY COMMISSIONERS OF PALM BEACH COUNTY, FLORIDA, ADOPTING THE FY 2025-2026 BUDGET FOR THE AIR POLLUTION CONTROL PROGRAM.

WHEREAS, on August 21, 1984, the Board of County Commissioners entered into an agreement with the Department of Health Palm Beach County to continue an Air Pollution Control Program and establish an Air Pollution Control Trust Fund pursuant to Sections 403.182 and 320.03(6), Florida Statutes; and

WHEREAS, the Agreement requires the Health Department to submit a budget to the County on an annual basis; and

WHEREAS, the projected budget for the expenditure of monies deposited into the Air Pollution Control Trust Fund for FY 2025-2026 is as follows:

	Program Component	Annual Cost
	Salary Fringe Travel & Training	\$514,845 \$248,077 \$1,000
4	Communications [Others]	\$8,000
5 6	Utilities & Building Main [Others] Office Supplies, Equip. Maintenance & Repair	\$8,000 \$17,000
7	Motor Pool [Others]	\$15,000
8	Capital (OCO)	\$10,000
9	105 Match	\$245,455
10	Indirect Costs (30.5%)	\$232,691 \$ 1,300,068

NOW, THEREFORE BE IT RESOLVED BY THE BOARD OF COUNTY COMMISSIONERS OF PALM BEACH COUNTY, FLORIDA that the projected budget of the Air Pollution Control Program as set forth herein is hereby adopted, subject to final adoption of the Palm Beach County FY 2025-2026 Budget.

The foregoing resolution was of	ffered by Commissioner, wh	าด
moved its adoption. The motion was s	seconded by Commissioner	
and upon being put to a vote, the vote	was as follows:	
MARIA MARINO, MAYOR	-	
SARA BAXTER, VICE MAYOR	-	
COMMISSIONER GREGG K. WI	EISS -	
COMMISSIONER JOEL G. FLOR	RES -	
COMMISSIONER MARCI WOOL	OWARD -	
COMMISSIONER MARIA SACH	S -	
COMMISSIONER BOBBY POWI	ELL JR	
The Mayor thereupon declared	the Resolution duly passed and adopted the	
day of, 2025.		
APPROVED AS TO FORM & LEGAL SUFFICIENCY	PALM BEACH COUNTY, FLORIDA BY ITS BOARD OF COUNTY COMMISSIONERS MICHAEL A. CARUSO Clerk & Comptroller	
	, 30, 30, 30, 30, 30, 30, 30, 30, 30, 30	
BY: Musuffel 8/0 County Attorney	મુંટ્રેલ્ડ BY:	

Comparison of Tag Fee Budgets FFY 2024 to FFY 2025

Attachment 3

MONTH	FY 2021-2022		FY 2022-23	FY 2023-24		FY 2024-25	•
Oct	\$51,992.00		\$52,699.00	\$48,118.50		\$75,627.75	
Nov	\$51,553.50		\$49,463.00	\$52,065.00	1	\$85,470.00	,
Dec	\$61,603.00		\$52,158.00	\$126,737.25	ŀ	\$79,656.75	
Jan	\$50,960.50		\$66,093.50	\$91,802.25		\$101,551.50	1
Feb	\$54,810.50		\$47,614.50	\$68,933.25		\$72,931.50	
March	\$56,991.00		 \$60,212.50	\$75,084.75		\$80,610.75	1
April	\$45,170.00		\$47,524.00	\$71,368.50		\$75,852.75	
May	\$61,369.50		\$62,140.00	\$91,502.25		\$87,939.75	i
June	\$40,196.00	· · · · · · · · · · · · · · · · · · ·	\$54,537.50	\$60,672.00		\$51,801.83	
July	\$206,293.50		\$195,087.50	\$308,717.25		\$236,699.42	2000
Aug	\$54,990.50		\$50,379.50	\$70,902.00		\$58,757.33	3
Sep	\$46,829.50	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$49,179.50	\$79,523.25		\$58,510.75	
TOTAL	\$	782,759.50	\$ 787,088.50	\$ 1,145,426.25	\$	1,065,410.08	

During FY 2021-22, we collected the revenue at 50 cents per dollar. During FY 2022-23, we collected the revenue at 50 cents per dollar. During FY 2023-24, we collected the revenue at 75 cents per dollar.

*These amounts are estimated based on average of 2019-20

FY 2023-24 Unencumbered Balance: (10/0	\$ 505,815.75	•
Add: FFY 2024-25 Revenue	\$ 1,065,410.08	
TOTAL Estimated FY 2023-24 Unencumber	\$ 1,571,225.83	
Budget for FY 2024-25	\$ 1,102,464.00	•
Interest Earned	\$ 5,000.00	
Estimated Balance on 9/30/2025	\$ 473,761.83	
Add: FFY 2025-26 revenue (Estimated	\$ 1,000,000.00	@ 75 cents
TOTAL Est. BALANCE by 9/30/26	\$ 1,473,761.83	•
Requested budget for FFY 2025-26	\$ 1,300,068.04	,
Balance 09/30/2026	\$ 173,693.79	i

Comparison of Tag	Fee	Budgets FFY	20		6
	T	FFY/24-25		FFY/25-26	% Difference
Salary	\$	445,857	\$	514,845	15%
Fringe	\$	162,928	\$	248,077	52%
Travel & Training	\$	3,000	\$	1,000	-67%
Communications [Others]	\$	10,000	\$	8,000	-20%
Utilities & Bidg Main [Others]	\$	15,000	\$	8,000	-47%
Postage & Printing	\$	1,000	\$	-	-100%
Office Supplies, Equip. Maint & Repair	\$	17,000	\$	17,000	0%
Motor Pool [Others]	\$	15,000	\$	15,000	0%
Capital (OCO)	\$	7,000	\$	10,000	43%
Legal Services	\$	10,000	\$	- 1	-100%
105 Match	\$	185,000	\$	245,455	33%
EHE Adm Support	\$	45,000	\$	- 1	-100%
Indirect Costs	\$	185,679	\$	232,691	25%
Indirect Costs Factors	1	29.8%		30.5%	2%
	\$	1,102,464	\$	1,300,068	18%

ATTACHMENT 4 RESOLUTION NO.R-84-1196

RESOLUTION OF THE BOARD OF COUNTY COMMISSIONERS OF PALM BEACH COURTY, FLORIDA APPROVING THE AGREEMENT BETWEEN PALM BEACK COUNTY AND THE PALM BEACE COUNTY HEALTH DEPARTMENT AND AUTHORIZING THE CLERK OF THE BOARD OF COUNTY COMMISSIONERS TO ESTABLISH THE AIR POLLUTION CONTROL TRUST FUND PURSUANT TO FLORIDA STATUTE 320.03(6)

WHEREAS, Palm Beach County recognizes the need for the control of air pollution; and

WHEREAS, Palm Beach County currently has in effect an Environmental Control Ordinance, Ordinance No. 78-5, as amended, which provides for the adoption by reference of all State Air Pollution rules; and

WHEREAS, the Air Pollution Control Program in the Health Department is an approved and certified program in accordance with S.403.162, Florida Statutes; and

WHEREAS, Florida Statute 320.03(6) authorizes the establishment of a local Air Pollution Control Trust Fund with the monies deposited in said fund to be used only for Air Pollution Control programs relating to the control of emissions from mobile source: and toxic and odor emissions, air quality monitoring, and facilitinspections pursuant to Florida Statute 320.03(6) or the Palm Beach County Environmental Control Ordinance.

WHEREAS, it is necessary for the parties to enter into a contractual agreement to delineate their responsibilities and obligations.

HOW, THEREFORE, BE IT RESOLVED BY THE BOARD OF COUNTY COM-MISSIONERS OF PALM BEACH COUNTY, FLORIDA, that:

The above statements are hereby affirmed and the Palm Beach County Realth Department Air Pollution Control Program is authorized to act as the local Air Pollution Control Program on behalf of Palm Beach County, and the Clerk of the Board of County Commissioners is authorized to accept and transfer funds from the Department of Environmental Regulation Air Pollution Control Trust Fund to a County Air Pollution Control Trust Fund for the support of such a program in accordance with Plorida Statute 320.03(6).

Be it further resolved that the agreement between Palm Beach County and the Palm Beach County Realth Department, a cop of which is attached hereto and made a part hereof, is approved and the Chairman and Clerk of the Board of County Commissioners are hereby authorized to execute said contract on behalf of Pal Beach County.

The foregoing Resolution was offered by Commissioner Wilken who moved its adoption. The motion was seconded by Commissioner ___ Koehler to a vote, the vote was as follows:

KEN SPILLIAG DOROTHY WILKEN PEGGY B. EVATT DENNIS P. KOEHLER BILL BAILEY

The Chairman thereupon declared the Resolution duly passed and adopted this 21st day of August ____1984.

PALM BEACH COUNTY, FLORIDA, BY IT BOARD OF COUNTY COMMISSIONERS

JOHN B. DUNKLE, ČLERK

APPROVED AS TO FORM AND -LEGAL SUFFICIENCY

AN AGREEMENT BETWEEN PALM BEACH COUNTY AND THE PALM BEACH COUNTY REALTH DEPARTMENT FOR THE CONTROL OF AIR POLLUTION

THIS AGREEMENT, made and entered into at West Palm Beach, Florida, on this 21st day of August 1984, by and between PALM BEACH COUNTY, a political subdivision of the State of Flor: hereinafter referred to as "County", and the PALM BEACH COUNTY REALTH DEPARTMENT, a Health Unit of the State Department of Health Rehabilitative Services, hereinafter referred to as "Health Department".

WHEREAS, the County desires to establish an Air Pollution Control Program; and

WHEREAS, the Health Department Air Pollution Control Progrits an approved program in accordance with 8.403.182, Florida Statutes; and

WHEREAS, Florida Statute 320.03(6) authorizes the establishment of a local Air Pollution Control Trust Fund with the monicideposited in said fund to be used only for Air Pollution Control programs, relating to the control of emissions from mobile source and toxic and odor emissions, air quality monitoring, and facilinspections pursuant to Plorida Statute 320.03(6) or the Palm Beach County Environmental Control.

NOW THEREFORE, in consideration of the premises and the mutual premises and undertakings contained herein, and for other good and valuable consideration, the parties hereby agree as

- 1. The County will adopt the existing Health Department
 Air Pollution Control Program as the approved local Air Polluti
 Control Program specified in Florida Statute 320.03(6)
- 2. The Health Department will administer said local program in accordance with the mandates set forth in Florida Statu 320.03(6); Florida Statute 403; and the Palm Beach County Envir mental Control Ordinance.
 - 3. The County shall establish a local Air Pollution Contr Trust Fund in accordance with Florida Statute 320.03(6).
 - 4. The County shall disburse monies from said Trust Fund to the Health Department, and the Health Department will utiliz and account for said funds, in accordance with the provisions o

Plorida Statute 320.03(6), Florida Administrative Code Chapter 17-2.820, and generally accepted accounting procedures and principles Exhibit 1 is attached hereto as a summary example of the accounting procedure to be utilized.

- 5. The Health Department will submit semi-annual written reports to the County setting forth the goals, objectives and accomplishments of the Local Air Pollution Control Program.
- 6. The Health Department shall submit a proposed budget to the County on an annual basis, the first of which is attached hereto as Exhibt 2 and made a part hereof.
- 7. This agreement shall become effective on the date last signed by the parties below.
- 8. This agreement may be terminated by either party upon 30 days written notice given by either party to the other prior to the proposed date of termination.
- 9. Esalth Department shall indemnify and hold harmless County from liability of any kind, including cost expenses for or on account of any suits, actual or threatened, or damages arising out of acts of its employees or program participants during the period of this agreement.

IN WITHESS WHEREOF, the parties have caused this two page agreement to be executed by their officials thereunto duly authorized.

PALM BEACH COUNTY HEALTH DEPARTMENT

BOARD OF COUNTY COMMISSIONERS OF PALM BEACH COUNTY, FLORIDA

BY: C.L. Brumback On per files your

Chayrman

JOHN B. DUNKLE, CLERK

1: Kuth D. Compton
Deputy Cherk

APPROVED AS TO FORM AND LEGAL SUPPLICIENCY

COUNT ATTORNEY

R2020 1385

FIRST AMENDMENT TO AN AGREEMENT BETWEEN PALM BEACH COUNTY AND THE DEPARTMENT OF HEALTH PALM BEACH COUNTY FOR THE CONTROL OF AIR POLLUTION

SEP 1 5 2020

THIS FIRST AMENDMENT is made as of the day of 2020, by and between Palm Beach County, a Political Subdivision of the State of Florida, by and through its Board of Commissioners, bereinafter referred to as the COUNTY, and the State of Florida Department of Health, Palm Beach County, hereinafter referred to a DOH, collectively referred to as the Parties.

WITNESSETH:

WHEREAS, on August 21, 1984, the Parties entered into An Agreement for the Control of Air Pollution wherein the COUNTY and DOH agreed that DOH would administer the COUNTY's local Air Pollution Control Program specified in Section 320.03(6), Florida Statutes; and

WHEREAS, the Parties desire to amend the agreement to conform the language of the indemnification provision in that agreement to current language.

NOW THEREFORE, the parties mutually agree that the Contract is amended as follows:

- 1. The foregoing recitals are true and correct and incorporated herein by reference.
- 2. PARAGRAPH 9 is hereby replaced in its entirety with the following:

9. Each party shall be liable for its own actions and negligence and, to the extent permitted by law, COUNTY shall indemnify, defend and hold harmless DOH against any actions, claims or damages arising out of COUNTY'S negligence in connection with this Agreement, and DOH shall indemnify, defend and hold harmless COUNTY against any actions, claims, or damages arising out of DOH'S negligence in connection with this Agreement. The foregoing indemnification shall not constitute a waiver of sovereign immunity beyond the limits set forth in Florida Statutes, Section 768.28, nor shall the same be construed to constitute agreement by either party to indemnify the other party for such other party's negligent, willful or intentional acts or omissions.

REMAINDER OF PAGE LEFT BLANK INTERPONALLY

IN WITNESS WHEREOF, the Board of County Cotumissioners of Palm Beach County, Florida has made and executed this First Amendment on behalf of the COUNTY, and the State of Florida Department of Health, Palm Beach County have hereunto set their hand the day and year above written.

COUNTY COL

ATTEST:

R2020 1385 SEP 1 5 2020

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS

Dave Kerner, Mayor

APPROVED AS TO FORM AND LEGAL SUFFICIENCY

Suffy Helical
Assistant County Attorney

Sharon R. Bock Clerk and Comptroller

APPROVED AS TO TERMS
AND CONDITIONS

Jamey J. Bolom

Naucy Bolton Assistant County Administrator

STATE OF FLORIDA DEPARTMENT OF HEALTH, PALM BEACH COUNTY

DR. ALINA ALONSO, DIRECTOR